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KAMEDEREIT, FHFTHRALERT -2 DEERBIETT,
SR, HRICEHVELLIEELRHYFINDT, HohLDHITELEZSL,

1. HEEHE
H23.1~4m% H22.1~4 H22.1~12 H22.4~23.3
3A 48 (ERE) | @iERY) | GTERD) | GiEER:
YEr-ERAHE 42975 | 26,253 121,808 125975 353,277 349,504
(A 74)] (A15) (A 3.3) (A 4.0) (A 1.3) (A 1.4)
%O 42234 | 25620 119,264 | 122,931 344598 | 341,225
(AT (A1) (A 3.0) (A 4.1) (A 1.1) (A 1.0)
ERHE 741 633 2,544 3,044 8,679 8,279|
(A 19.3)] (A 136)] (A 16.4) (0.3) (A 87)] (A 14.0)
=5 i 3,135 2,559 10,272 11,157 31,756 31,082
(A 104)] (A 7.6) (A 7.9) (9.3) (2.9) (A 1.7)
e HRE 9,769 8,545 35,090 39,527 113,519 110,963
(A 16.8)] (A 18.0) (A 11.2) (5.7) (2.4) (A 1.4)
BmER S 14,899 11,901 51,505 58,620 167,326] 163,648
(A 18.7)] (A 224)| (A 12.1) (7.9) (40| (A 03
& i 55,879 37,357 167,170 | 176,659 498,552 491,549
(A 93) (A62) (A 5.4) (A 1.2) (A 0.3) (A 1.4)
2. EFHEEH
H23.1~4n% H22.1~4 H22.1~12 H22.4~23.3
38 48 (ER:) | @iERS | GrER:H | GieEas
g sk ZIEE T 4,612 2,652 12,993 10,877 31,524 33,395
b (18.9) (10.2) (19.5) (2.9) (1.6) (13.8)
EBEET 4,389 4314 16,309 16,514 49,535 49,616
(0.1)] (A 6.2 (A 1.2) (2.2) (1.4) (1.6)
e AEEFT 126 127 514 503 1,567 1,586
v (A 176)] (A 59) (2.2) (9.6) (19.6) (17.5)
EBEEET 1,067 999 3,844 3517 10,825 11,120
(10.2) (3.3) (9.3)] (A 0.1 (1.7) (4.8)
3. BEIERKEHK
H23.1~4n% H22.1~4 H22.1~12 H22.4~23.3
3K 4 (ERH | @iERS) | GTERD | GiEER:
Y E 25887 | 18,123 87,808 92,350 255,192 250,744
(A96) (A15)] (A 49 (0.4) 03)] (A1)
14 [ 2 28,648 | 18,746 92,350 92,004 254,368 | 255,070
” (5.5)| (A 37.3) (04)] (A 31.3) (A 26.9)| (A 19.5)
= — 0 0 0 0 0 0
= R # = 00| (0.0) 0.0) 0.0) (0.0) (0.0)
N =t 25,887 | 18,123 87,808 92,350 255,192 | 250,744
= ? (A 96) (A15)] (A 49 (0.4) 03) (A 1.7)




4. BHFERHEH

H23.1~4n% H22.1~4 H22.1~12 H22.4~23.3

3R 48 (E=g8:) | giERy) | GTERH | GieEss
BEERR 2,081 2,335 8,766 8,814 27,889 27,945

(A 7.6) (A43) (A 05) (0.3) (15.5) (15.5)

4% S 15 23 72 82 237 234
(A 375)] (A 233) (A 122)] (A 24) (A78)| (A1)

iT I 12 17 49 40 135 139

B (20.0) (41.7) (22.5)] (A 333) (A 15.1) (A 4.1)
H OF 3 3 10 11 39 41

(0.0)] (A 50.0) (A 9.1) (0.0) (21.9) (51.9)

& i 2,111 2,378 8,897 8,947 28,300 28,359

(A 80) (A4 (A 06) (0.0) (15.1) (15.2)

H23.1~4m= H22.1~4 H22.1~12 H22.4~23.3

3H 48 (ER8:) | giERy) | GTERH | GieEgsh
EESR 0 0 0 0 0 0

= (0.0) (0.0) (0.0) (0.0) (0.0) (0.0)
®m 3 2 3 6 1 3 6

=i (100.0)]  (200.0) (500.0)| (A 500) (A 62.5) (0.0)
T IE 0 1 1 0 1 1

3 (0.0) (0.0) (0.0) (0.0) (100.0) (100.0)
H OF 0 0 1 0 2 3

x (0.0) (0.0) (100.0)| (A 100.0) (100.0) (100.0)
& F 2 4 8 1 6 10

(100.0)]  (300.0) (700.0)| (A 66.7)] (A 33.3) (66.7)

H23.1~4me | H22.1~4 H22.1~12 | H22.4~233

3R 48 (E=g8:) | giERy) | GTERH | GieEgs

BEERR 24 31 126 145 467 467

E (A 14.3) (A 380)) (A 13.1)] (A 11.6) (A 9.0) (A 6.4)
m 3 1 1 2 3 20 18

(A 50.0) (100.0) (A 33.3)[ (A 40.0) (33.3) (28.6)

E ET 2 1 3 4 19 18
(0.0)) (100.0)| (A 25.0) (33.3) (90.0) (80.0)

5 F 27 33 131 152 506 503

(A 156)| (A 353) (A 138)] (A 11.6) (A59)] (A38)

H23.1~4m% H22.1~4 H22.1~12 H22.4~23.3

3R 4H (ER8: | giERy) | GTEREH | GieEgsh

EESR 87 108 387 453 1,326 1,319

(A 23.0)] (A 353) (A 146)] (A 13.9) (A63) (A21)

[i4] ®m 3 6 7 28 34 113 105
(A 57.1) (40.0)| (A 176) (A 150 (A& 19.3) (A 26.6)

I 106 88 409 469 1,380 1,343

1z (A 232)] (A 207 (A 128)] (A 75) (A 23) (A40)
H OF 3 0 3 5 12 12
(200.0)|(A 100.0)| (A 40.0) (66.7) (71.4) (33.3)

g2 = 43 36 155 119 431 470

(720)] (A 71.7) (30.3)] (A 265) (A 10.2) (8.0)

& i 245 239 982 1,080 3,262 3,249

(A 158)] (A 262 (A91)| (A 128) (A 56) (A 25)




